Pay Estimate Created Date: June 30, 2022

Progress Estimate Nu 3			20121-B03 issouri Petroleum Pro	oducts C			le 16, 2022Original Contract Amou le 30, 2022Net Change Order Amo Current Contract Amou	unt\$0.00				
Approval Date								By User				
June 30, 2022		Generated and Approved (and should be considered Draft) at the Project Office Level by										
July 1, 2022		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by										
July 5, 2022		Reviewed and Approved at the Central Office Controllers Office Level by										
Original Completio	oletion Date Current Completion Date Actual Completion Date % of Current Contract A											
September 1, 20	22	Septerr	ber 1, 2022		June 23, 2022		99.44%					
	Contract I	nformational Dat	tes		Milestones							
Date Description	Original C	ompletion Date	Current Completio	n Date	No Milestones Exist for Co	ntract						
Acceptance Date												
Awarded Date	February 2	, 2022	February 2, 2022									
Letting Date	January 21	, 2022	January 21, 2022									
Notice to Proceed Date	March 7, 2	022	March 7, 2022									
Open to Traffic Date	June 2, 20	22	June 2, 2022									
Work Began Date	June 2, 20	22	June 2, 2022									

Contract Total Pay For Estimate No. 3

	This Estimate	Previous	To Date	
220121-B03				
Total Posted Items Pay	\$10,025.20	\$143,936.00	\$153,961.20	
Gross Item Adjustments	\$2,401.64	\$0.00	\$2,401.64	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
		\$143,936.00	\$156,362.84	
Contract Total Payable This Estimate:	\$12,426.84			

Contract Total Payable This Estimate: Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount	
J2S3373	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$1,500.000	2	\$3,000.00	
	0040 6161005 CONSTRUCTION SIGNS SQFT \$6.000 9							
	0080	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.800	3,305	\$2,644.00	
	0090	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.800	850	\$680.00	
Project J2S	3373 - Tota	l.					\$6,378.00	
J2S3374	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.800	4,025	\$3,220.00	
	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.800	534	\$427.20	
Project J2S	3374 - Tota	l					\$3,647.20	
Overall - To	otal						\$10,025.20	

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2S3373	0010	EMULSIFIED ASPHALT, SEAL COAT		Seal Coat Adjustment	This Line Item Adjustment is for an AC Index Price Adjustment for Seal Coat that was paid out on Estimate 0003, completed on June 30, 2022. There were a total of 1954 gallons of Seal Coat Oil used during this pay period for this Line Item. The spreadsheet calculations for the final amount of \$1,083.04 can be found at the following location on			\$1,083.04



Pay Estimate Created Date: June 30, 2022

Progres	ss Estim 3	ate Number	Contract ID Prime Contrac	220121-B c tor Missouri F		Pay Period StartJune 16, 2022Ori oducts Company, LLCPay Period End June 30, 2022Ne Cu		ler Amount\$	0.00
Project Number	Line No.	Item De	scription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustmen amount
						eProjects in the 2S3373 project folder under the following file name: 220121- B03_As_Built_Line_Item_Adjustments_Documentation			
J2S3374	0100	EMULSIF	IED ASPHALT, SEAL COAT		Seal Coat Adjustment	This Line Item Adjustment is for an AC Index Price Adjustment for Seal Coat that was paid out on Estimate 0003, completed on June 30, 2022. There were a total of 2379 gallons of Seal Coat Oil used during this pay period for this Line Item. The spreadsheet calculations for the final amount of \$1,318.60 can be found at the following location on eProjects in the 2S3373 project folder under the following file name: 220121- B03 As Built Line Item Adjustments Documentation			\$1,318.60
Total									\$2.401.64



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work					
J2S3373	FAS S202(27)	Bridge deck seal coat	107	MONROE	over South Fork Salt River 0.6 mile south of Rte. U near Florida					
J2S3374	FAS S202(28)	Bridge deck seal coat	107	MONROE	over North Fork Salt River 0.5 mile north of Rte. U near Florida					

Totals by Job Numbers

3373	This Estimate	Previous	To Date
Posted Item Pay	\$6,378.00	\$74,556.00	\$80,934.00
Gross Item Adjustments	\$1,083.04	\$0.00	\$1,083.04
Gross Item Pay	\$7,461.04	\$74,556.00	\$82,017.04
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
33374	This Estimate	Previous	To Date
Posted Item Pay	\$3,647.20	\$69,380.00	\$73,027.20
Gross Item Adjustments	\$1,318.60	\$0.00	\$1,318.60
	\$4.965.80	\$69.380.00	\$74.345.80
Gross Item Pay	\$4,965.60	<i>403,300.00</i>	\$14,340.00
		,	. ,
Gross Item Pay	\$4,965.80 \$0.00	\$0.00	\$0.00
		,	. ,
Incentive	\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0121-B03	J2S3373	0001	0010	4091048	EMULSIFIED ASPHALT, SEAL COAT	1,954.00	0.00	1,954.00	GAL	1,954.00	\$4.00	\$7,816.00
		0001	0020	4094012	SEAL COAT AGGREGATE, GRADE B2	6,977.00	0.00	6,977.00	SQYD	6,977.00	\$4.00	\$27,908.00
		0001	0030	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0001	0040	6161005	CONSTRUCTION SIGNS	277.00	0.00	277.00	SQFT	231.00	\$6.00	\$1,386.00
		0001	0050	6161025	CHANNELIZER (TRIM LINE)	25.00	0.00	25.00	EA	0.00	\$10.00	\$0.00
		0001	0060	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.00
		0001	0070	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$31,500.00	\$31,500.00
		0001	0080	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	3,305.00	0.00	3,305.00	LF	3,305.00	\$0.80	\$2,644.00
		0001	0090	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	850.00	0.00	850.00	LF	850.00	\$0.80	\$680.00
	Project J2	2S3373 - To	otal Value	Posted to D	ate as of Report Generated Date							\$80,934.00
	J2S3374	0001	0100	4091048	EMULSIFIED ASPHALT, SEAL COAT	2,379.00	0.00	2,379.00	GAL	2,379.00	\$4.00	\$9,516.00
		0001	0110	4094012	SEAL COAT AGGREGATE, GRADE B2	8,497.00	0.00	8,497.00	SQYD	8,497.00	\$4.00	\$33,988.00
		0001	0120	6161005	CONSTRUCTION SIGNS	160.00	0.00	160.00	SQFT	146.00	\$6.00	\$876.00
		0001	0130	6161025	CHANNELIZER (TRIM LINE)	25.00	0.00	25.00	EA	0.00	\$10.00	\$0.00
		0001	0140	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$25,000.00	\$25,000.00
		0001	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	4,025.00	0.00	4,025.00	LF	4,025.00	\$0.80	\$3,220.00
		0001	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	534.00	0.00	534.00	LF	534.00	\$0.80	\$427.20
	Project J2	2S3374 - To	otal Value	e Posted to D	ate as of Report Generated Date							\$73,027.20
0121-B03 Ove	rall - Total	Value Pos	ted to Da	te as of Repo	ort Generated Date							\$153,961.20



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval	Quantity Posted	Units	Location	From Station/	Offset/ Distance	To Station/	Offset/ Distance	Comments
				Date				Log Mile		Log Mile		
0030	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	6/28/22	6/29/22	2.00	EA	Route 107	276+30	12' Lt of centerline	372+17	12' Rt of centerline	TMAs were used during striping operations for both bridge marking operations.
0040	6161005	CONSTRUCTION SIGNS	6/28/22	6/29/22	9.00	SQFT		0				
0050	6161025	CHANNELIZER (TRIM LINE)	6/28/22	6/29/22	0.00	EA	0	0	0	0	0	Zero payment made because this line item was change ordered to zero quantity.
0080	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	6/28/22	6/29/22	3,305.00	LF	Route 107	355+65	12' Lt of centerline	372+17	12' Rt of centerline	Both solid outside edge lines across bridge A3799.
0090	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	6/28/22	6/29/22	232.00	LF	Route 107	355+65	0' Lt of centerline	357+50	0' Lt of centerline	Northbound Solid and Intermittent centerline stripe at the north end of bridge A3799
				6/29/22	305.00	LF	Route 107	357+50	0' Lt of centerline	369+67	0' Lt of centerline	Intermittent centerline for passing zone across bridge A3799.
				6/29/22	313.00	LF	Route 107	369+67	0' Lt of centerline	372+17	0' Lt of centerline	Solid and Intermittent centerline stripes at the south end of bridge A3799.

Project: J2S3374

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0130	6161025	CHANNELIZER (TRIM LINE)	6/28/22	6/29/22	0.00	EA	0	0	0	0	0	Zero payment made because this line item was change ordered to zero quantity.
0150	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	6/28/22	6/29/22	4,025.00	LF	Route 107	276+30	12' Lt of centerline	296+43	12' Rt of centerline	Both Solid White Edge Lines across bridge A3798.
0160	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	6/28/22	6/29/22	38.00	LF	Route 107	276+30	0' Lt of centerline	276+60		Solid and Intermittent Yellow centerline stripe at the north end of bridge A3798.
				6/29/22	496.00	LF	Route 107	276+60	0' Lt of centerline	296+43	0' Lt of centerline	Intermittent Yellow centerline across bridge A3798.

The information below this line are details for Construction Signs (if applicable).

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
S3373 0	040	June 2, 2022	222	GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES	266+30		16' Rt of centerline Route 107	1.00	10			1
				GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES	382+20		16' Lt of centerline Route 107	1.00	10			1
				WO8-7a 6x36 9.00 FRESH OIL/LOOSE GRAVEL	373+20		16' Lt of centerline Route 107	1.00	9			
				WO8-7a 6x36 9.00 FRESH OIL/LOOSE GRAVEL	354+65		16' Rt of centerline Route 107	1.00	9			
				CONST-7 48x24 8.00 RATE OUR WORK ZONE	387+20		16' Lt of centerline Route 107	1.00	8			
				GO20-2 48x24 8.00 END ROAD WORK	382+20		16' Rt of centerline Route 107	1.00	8			
				GO20-2 48x24 8.00 END ROAD WORK	266+30		16' Lt of centerline Route 107	1.00	8			
				CONST-7 48x24 8.00 RATE OUR WORK ZONE	261+30		16' Rt of centerline Route 107	1.00	8			
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	395+77		16' Lt of centerline Route 107	1.00	16			1
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD	390+77		16' Lt of centerline Route 107	1.00	16			1
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS	385+77		16' Lt of centerline Route 107	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE	374+70		16' Lt of centerline Route 107	1.00	16			
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE	271+30		16' Rt of centerline Route 107	1.00	12			
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE	377+20		16' Lt of centerline Route 107	1.00	12			
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	332+05		16' Rt of centerline Route 107	1.00	16			
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD	337+05		16' Rt of centerline Route 107	1.00	16			1
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS	342+05		16' Rt of centerline Route 107	1.00	16			
				W08-12 48x48 16.00 NO CENTER LINE	353+15		16' Rt of centerline Route 107	1.00	16			1
		June 28, 2022	9	GO22-1 21x15 2.19 WET PAINT (ARROW PIVETS)	On Back of Truck Mounted Atten		Two signs per TMA, 2 TMAs	4.00	2.19			8.7
9	040 - Total											230.7
S3374 0	120	June 2, 2022	146	WO20-4 48x48 16.00 ONE LANE ROAD AHEAD	257+70		16' Rt of centerline Route 107	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	252+70		16' Rt of centerline Route 107	1.00	16			1
				WO8-7a 6x36 9.00 FRESH OIL/LOOSE GRAVEL	275+30		16' Rt of centerline Route 107	1.00	9			
				WO8-7a 6x36 9.00 FRESH OIL/LOOSE GRAVEL	297+50		16' Lt of centerline Route 107	1.00	9			
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD	315+05		16' Lt of centerline Route 107	1.00	16			1
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS	310+05		16' Lt of centerline Route 107	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE	299+00		16' Lt of centerline Route 107	1.00	16			1
				WO8-12 48x48 16.00 NO CENTER LINE	273+80		16' Rt of centerline Route 107	1.00	16			1
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS	262+70		16' Rt of centerline Route 107	1.00	16			1
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD	320+05		16' Lt of centerline Route 107	1.00	16			1



Line Item Adjustments by Estimate

Contract ID:190215-D05

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J2S3373	0010	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	SEAL	3	Jun 30, 2022	dwighj1	\$1,083.04	This Line Item Adjustment is for an AC Index Price Adjustment for Seal Coat that was paid out on Estimate 0003, completed on June 30, 2022. There were a total of 1954 gallons of Seal Coat Oil used during this pay period for this Line Item. The spreadsheet calculations for the final amount of \$1,083.04 can be found at the following location on eProjects in the 2S3373 project folder under the following file name: 220121-B03_As_Built_Line_Item_Adjustments_Documentation
				SEAL - Tota	ıl			\$1,083.04	
			Other Item /	Adjustment -	Total			\$1,083.04	
	0010 -	Total						\$1,083.04	
J2S3373 -	- Total				_			\$1,083.04	
J2S3374	0100	EMULSIFIED ASPHALT, SEAL COAT	Other Item Adjustment	SEAL	3	Jun 30, 2022	dwighj1	\$1,318.60	This Line Item Adjustment is for an AC Index Price Adjustment for Seal Coat that was paid out on Estimate 0003, completed on June 30, 2022. There were a total of 2379 gallons of Seal Coat Oil used during this pay period for this Line Item. The spreadsheet calculations for the final amount of \$1,131.8.60 can be found at the following location on eProjects in the 2S3373 project folder under the following file name:
									220121-B03_As_Built_Line_Item_Adjustments_Documentation
				SEAL - Tota	ıl			\$1,318.60	
			Other Item /	Adjustment -	Total			\$1,318.60	
	0100 -	Total						\$1,318.60	
J2S3374 ·	- Total							\$1,318.60	
Overall -	Total							\$2,401.64	